
Stealth Adapter for Tamiya KingCab 

Remove your existing transmission and plate. 

Transfer the two plastic transmission posts and 

bumper. Install the new motor plate on the stealth 

trans, and install the trans onto the plate using 4-40 

x 3/8” long screws. Install the 3x14mm screws 

through the adapter as shown with plain nuts, and 

attach the plate to the top of the trans using 4-40 x 

1/4” screws as shown. Attach the plate assembly to 

the chassis using stock hardware. Use the supplied 

3mm lock nuts on the two screws that now protrude 

at the rear. Install your rear suspension sides to the 

new plate using stock hardware. Reinstall your 

dogbones and reattach the upper links. The new 

plate is approximately 4.4mm narrower than stock, 

so you will need to take that amount out of the 

upper arms to correct the camber. Install your motor 

and you should be ready to race!  

 

 

Stealth Adapter for Tamiya KingCab 

Remove your existing transmission and plate. 

Transfer the two plastic transmission posts and 

bumper. Install the new motor plate on the stealth 

trans, and install the trans onto the plate using 4-40 

x 3/8” long screws. Install the 3x14mm screws 

through the adapter as shown with plain nuts, and 

attach the plate to the top of the trans using 4-40 x 

1/4” screws as shown. Attach the plate assembly to 

the chassis using stock hardware. Use the supplied 

3mm lock nuts on the two screws that now protrude 

at the rear. Install your rear suspension sides to the 

new plate using stock hardware. Reinstall your 

dogbones and reattach the upper links. The new 

plate is approximately 4.4mm narrower than stock, 

so you will need to take that amount out of the 

upper arms to correct the camber. Install your motor 

and you should be ready to race!  

 

  

Stealth Adapter for Tamiya KingCab 

Remove your existing transmission and plate. 

Transfer the two plastic transmission posts and 

bumper. Install the new motor plate on the stealth 

trans, and install the trans onto the plate using 4-40 

x 3/8” long screws. Install the 3x14mm screws 

through the adapter as shown with plain nuts, and 

attach the plate to the top of the trans using 4-40 x 

1/4” screws as shown. Attach the plate assembly to 

the chassis using stock hardware. Use the supplied 

3mm lock nuts on the two screws that now protrude 

at the rear. Install your rear suspension sides to the 

new plate using stock hardware. Reinstall your 

dogbones and reattach the upper links. The new 

plate is approximately 4.4mm narrower than stock, 

so you will need to take that amount out of the 

upper arms to correct the camber. Install your motor 

and you should be ready to race!  

 

 


